
Fn

@ F= ( x2
, zxy ) t

QP
C

1

7 1

w=SFdi= Sfxdxt Sfydy¢= I

§w=sx2dx+{2ydy='zt2
' 'z=¥

- ... . . -
- -

i's
°

0  ×

1

b) y=x2 dy=2xdx

w=§x2dx+{ Li .2xdx=y+4ts5÷y=¥
¥+k£

c) x=t3,y=E→dx=3t2dt , y=2tdt

w= § to .3Edt+§2t3t" 2tdt=3gt+4 .'g=tzt±a=E
,

t=xB
, y=x

" dy=÷x
- "

dx

w=§xzax+§2xx"
3.

Ex '

"3dx=I+§§x%dx=tt±I=tt¥



@
qq.gg#ufjNvchs:mgh=tzmi=srt2gh

✓
yH± . h=R( 1- any ) ⇒ I -

wig - he

mg cnq= 1- ±

n÷f= mgcnq . NV r

at liftoff
,

W=O
.2,8€..gµe=$(

1- ⇒

2L = R ( the )=R - he

3h= R
, h=t€



@ $En÷
"

>x

a) ° "
if conservative

, path does not matter

work at an external force to stretch from

equilibrium to × is

w=¥fdx=§o-k×dx= { k×2 ⇒ U=t -

b) " " "

%/f**
*×ik=ug

|•Y
w=-§C - mgtklxo. xD - yDdy =

* "

=

mgy
- kcxoxisyttky ?_

mgy
- mgyttzky

"

U=

tzk
-



@ If
:=

( Fifty ; %)
a) f =

x4z3 : If  = (2%0,32-2)

b) f. . Ky : If :( o
,

k
,

o )

c) f-

Fixer
: ftp.t#it.2x=E

It . Er ,÷,⇒=i
d) f= I : ¥ : - t.my#pI2x= - *f±

Ff=. Hie ,±r ,)= . ha



@ far )=x2+2y2+3z2 f- ( 1,1 , D= 1+2+3=6

f ( 1.01
,

1.03
,

1.05 ) =

Ff= ( Lx ,4y ,
67 )

= ,
.

opt 2.1.03 '+ 3.1.05 "

§f( 1,1 , D= ( 2,4 , 6) =

1.0201+2.1218+3,3075=6.4494

df=#f
.de?=o.o2+o.12to.3o=9f=

0.4454=a⇐,£



4¥ µ=k(x4y4z2 )

F= - By =
- K ( Lx

, 2y ,
2£ )= - 21<8


